

5.5 page 287

47-51  
55-58

$$(47) x^2 + 2x = 9$$

$$x^2 + 2x + 1 = 9 + 1$$

$$(x+1)(x+1) = 10$$

$$(x+1)^2 = 10$$

$$\sqrt{(x+1)^2} = \pm\sqrt{10}$$

$$x+1 = \pm\sqrt{10}$$

$$-1 \quad -1$$

$$x = -1 \pm \sqrt{10}$$

$$x = -1 + \sqrt{10} \quad \text{or} \quad x = -1 - \sqrt{10}$$

$$(48) x^2 - 12x = -28$$

$$x^2 - 12x + 36 = -28 + 36$$

$$(x-6)(x-6) = 8$$

$$(x-6)^2 = 8$$

$$\sqrt{(x-6)^2} = \pm\sqrt{8}$$

$$x-6 = \pm\sqrt{4}\sqrt{2}$$

$$x-6 = \pm 2\sqrt{2}$$

$$+6 \quad +6$$

$$x = 6 \pm 2\sqrt{2}$$

$$x = 6 + 2\sqrt{2} \quad \text{or} \quad x = 6 - 2\sqrt{2}$$

$$(49) \quad x^2 + 20x + 104 = 0$$

$$x^2 + 20x = -104$$

$$x^2 + 20x + 100 = -104 + 100$$

$$(x+10)(x+10) = -4$$

$$(x+10)^2 = -4$$

$$\sqrt{(x+10)^2} = \pm \sqrt{-4}$$

$$x+10 = \pm \sqrt{4} \cdot \sqrt{-1}$$

$$x+10 = \pm 2i$$

$$x = -10 \pm 2i$$

$$\begin{array}{l} x = -10 + 2i \text{ or} \\ x = -10 - 2i \end{array}$$

$$\textcircled{50} \quad x^2 + 3x - 1 = 0$$

$$x^2 + 3x = 1$$

$$x^2 + 3x + \frac{9}{4} = 1 + \frac{9}{4}$$

$$\left(x + \frac{3}{2}\right) \left(x + \frac{3}{2}\right) = \frac{13}{4}$$

$$\left(x + \frac{3}{2}\right)^2 = \frac{13}{4}$$

$$\sqrt{\left(x + \frac{3}{2}\right)^2} = \pm \sqrt{\frac{13}{4}}$$

$$x + \frac{3}{2} = \pm \sqrt{\frac{13}{4}}$$

$$x + \frac{3}{2} = \pm \frac{\sqrt{13}}{2}$$

$$x = -\frac{3}{2} \pm \frac{\sqrt{13}}{2}$$

$$x = \frac{-3 + \sqrt{13}}{2} \text{ or } x = \frac{-3 - \sqrt{13}}{2}$$

$$\textcircled{51} \quad u^2 - 4u = 2u + 35$$

$$-2u \quad -2u$$

$$u^2 - 6u = 35$$

$$u^2 - 6u + 9 = 35 + 9$$

$$(u-3)(u-3) = 44$$

$$\sqrt{(u-3)^2} = \pm \sqrt{44}$$

$$u-3 = \pm \sqrt{4} \cdot \sqrt{11}$$

$$u-3 = \pm 2\sqrt{11}$$

$$+3 \quad +3$$

$$u = 3 + 2\sqrt{11} \text{ or } u = 3 - 2\sqrt{11}$$

$$\textcircled{55} \quad \frac{2x^2 - 12x}{2} = \frac{-14}{2}$$

$$x^2 - 6x = -7$$

$$x^2 - 6x + 9 = -7 + 9$$

$$(x-3)(x-3) = 2$$

$$\sqrt{(x-3)^2} = \pm\sqrt{2}$$

$$\begin{array}{c} x-3 = \pm\sqrt{2} \\ +3 \quad +3 \end{array}$$

$$x = 3 + \sqrt{2} \text{ or } x = 3 - \sqrt{2}$$

$$\textcircled{56} \quad \frac{-3x^2 + 24x}{-3} = \frac{27}{-3}$$

$$x^2 - 8x = -9$$

$$x^2 - 8x + 16 = -9 + 16$$

$$(x-4)(x-4) = 7$$

$$\sqrt{(x-4)^2} = \pm\sqrt{7}$$

$$\begin{array}{c} x-4 = \pm\sqrt{7} \\ +4 \quad +4 \end{array}$$

$$x = 4 + \sqrt{7} \text{ or } x = 4 - \sqrt{7}$$

$$\textcircled{57} \quad \frac{6x^2 + 84x + 300}{6} = \frac{0}{6}$$

$$x^2 + 14x + \frac{50}{-50} = \frac{0}{-50}$$

$$x^2 + 14x = -50$$

$$x^2 + 14x + 49 = -50 + 49$$

$$(x+7)(x+7) = -1$$

$$\sqrt{(x+7)^2} = \pm\sqrt{-1}$$

$$x+7 = \frac{\pm i}{-7}$$

$$x = -7 + i \text{ or } x = -7 - i$$

$$\textcircled{58} \quad \frac{4x^2 + 40x + 280}{4} = \frac{0}{4}$$

$$x^2 + 10x + \frac{70}{-70} = \frac{0}{-70}$$

$$x^2 + 10x = -70$$

$$x^2 + 10x + 25 = -70 + 25$$

$$(x+5)(x+5) = -45$$

$$\sqrt{(x+5)^2} = \pm\sqrt{-45}$$

$$x+5 = \pm\sqrt{9}\sqrt{5}\sqrt{-1}$$

$$x+5 = \frac{\pm 3\sqrt{5}i}{-5}$$

$$x = -5 + 3\sqrt{5}i$$

or

$$x = -5 - 3\sqrt{5}i$$